& 4% 39

FAEIE G AP 107 & B ATEAE X B R
BEA PR
ENEEY S A e L
EGEREA T &)

L5 3 2

(1) 728 JAVA 4258 3% 2 ¥ enf o i@ § (Short-circuiting) 13, % o

() TR BifE T i § AL SFAL 0 WP R ARP R fﬂ“ﬁ A
Z A
it e Af ((datal=0) && (item/data)>10)) { }
it v B:if ((datal=0) & (item/data)>10)) { }
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#include <iostream>
using namespace std;

void swapl (int c, int d){
c=2,
d=3;

}

void swap2 (int *c, int *d){
*c=2;
*d=3;

}

void swap3 (int &c, int &d){
c=1,

1 d=2;

}

int main() {
int val1=5, val2=10, a=0, b=0, c=0;
swapl(vall, val2);
a =vall+val2;
cout << "a="<<g;

swap2(&vall, &val2);
b =vall+val2;
cout << "b=" << b;

swap3(vall, val2);
¢ = vall+val2;
cout << "c=" << ¢;

return O;

} 2
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(1) &CHEZY IREARVIFHS =M B RTAIREZF DL R
A. 23 % #ic(global variable)
B. % 3 % #ic(local variable)
C. # i % #(static variable)
(2) FBIHGFTAHCHFZ AN mﬁ%] DR o
#include <stdio.h>
int x=3;
void funcA(){
int X=66;
printf("Local x in funcAis %d .\n", x);
X+=2;

¥

void funcB(){
static int x=88;
printf("Local static x in funcB is %d .\n", x);
X+=2;

¥

void funcC(){
printf("Global x in funcC is %d .\n", x);
X+=2;

¥

int main(){
funcA();
funcB();
funcC();
funcA();
funcB();
funcC();

¥
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class CA{
int instanceX = 10;
void instanceMethod(){
System.out.printin("CA instanceMethod");
}

¥

class CB extends CA{
int instanceX = 20;
void instanceMethod(){
System.out.printin("CB instanceMethod");

}
3 }
public class PolyTest{
static int i;
static String str;
public static void main(String[] args){
System.out.printIn(i);
System.out.printIn(str);
CADb =new CB();
b.instanceMethod();
System.out.printin(b.instanceX);
}
}
fie 4120 &
(1) #f#fe s & = EwF 3 0 d LS dk (function overloading) ?
(2 % CHIFTHEBLANTER=Z B 5 Pl 7 A& R
A. @?J »1B2EFER > FEECHBFEEExEEELR)
4

B. ﬁgj/\ 2 LR ERE 0 3B PR A (X XL 2 x3.14xF )
C. #i» 3R EPF > -5 £ MMM (EXExF)

R ¥ 1 [R5 A > 5 214204 » £ 254

i
il
il




